20205 BEREOHXFRHFAER BUNEES—(EERFRA)

] - ERER (ko)

Javy BERRE SmERE SIMRHM (H) 500 | E5 ) lmno—Teos—ml a5
7 7345 00] 3155] 4820] 15320
i 1EH 6| 1EEB[ 5190 00| 2070| 1600| 886.0
- 261 B 3| 2mA| 2155 00| 1085| 3220| 6460
7 7345 00| 3155| 4820] 15320
AET Oy Ak 1EH 6| 1EB[ 5190 00| 2070] 1600] 886.0
2E B 3| omEE| 2155 00| 1085| 3220 6460
1 26.0 0.0 80| 180| 520
AR 1EH o] 1mE 0.0 0.0 0.0 0.0 0.0
26 B 1| 2EH| 260 0.0 80| 180[ 520
4 1265 170| 395[  760[ 250.0
HFR 1E 4] 1mA| 945 00| 245| 440] 1630
2E B 2| emE|[ 320| 170| 150| 320]  96.0
0 0.0 0.0 0.0 0.0 0.0
BHR 1EH o] 1mE 0.0 0.0 0.0 0.0 0.0
2618 o] 2@EH 0.0 0.0 0.0 0.0 0.0
1 0.0 0.0 0.0] 360| 360
S HER 1E 1] 1mE 0.0 0.0 00| 360| 360
26 B o] 2mE 0.0 0.0 0.0 0.0 0.0
3 2755 00| 1570| 5395] 9720
W 1EH 3| imB| 1355 00| 520| 2710| 4585
2618 3| 2mH| 1400 00| 1050| 2685| 5135
8 3475| 1055| 1225| 6100 11855
BBR 1EH 6| 1EB| 3475| 1055 96.0| 2185| 7675
2E B 5|  2@E 0.0 00| 265| 391.5| 4180
17 7755| 1225| 327.0| 1,2795| 2504.5
AT O ak 1EH 14] 1EE| 577.5] 1055| 1725| 569.5| 1,425.0
26 B 11| 2EH| 1980 17.0| 1545| 7100 1,0795
5 261.0 30| 780] 1535] 4955
TR 1EH 3| 1mEEB[ 1080 00| 360| 705| 2145
26 B 5| 2MEH| 1530 30| 420| 830| 2810
2 0.0 0.0 00| 6110| 6110
AR 1E B 2| 1mE 0.0 0.0 00| 5235| 5235
26 B 1] 2mE 0.0 0.0 0.0 875| 875
1 990  27.0 0.0 00| 1260
BER 1EH o] 1mE 0.0 0.0 0.0 0.0 0.0
26 B 1| 2EE|[  990]| 270 0.0 0.0 1260
2 1,108.0 0.0 0.0 0.0 11080
HER 1E 2| 1EB| 11080 0.0 0.0 0.0 11080
2E B o] 2mE 0.0 0.0 0.0 0.0 0.0
8 959.0| 260| 1625| 787.0| 19345
FER 1EH 8| 1EB| 5060 150| 955| 4550 10715
26 B 7| 2EE| 4530 110| 67.0| 332.0| 863.0
5 4855 00| 435| 1640 6930
B R 1EH 5| 1mA| 2635 00| 260| 970| 3865
26 B 4] omBE| 2220 00| 175| 67.0| 3065
0 0.0 0.0 0.0 0.0 0.0
MR 1EH o] 1mE 0.0 0.0 0.0 0.0 0.0
26 B o] 2@EH 0.0 0.0 0.0 0.0 0.0
3 3.0 0.0 20| 4420|4470
AR 1E 2| 1mE 3.0 0.0 20 1390] 1440
2E B 2| 2mE 0.0 0.0 0.0 3030 303.0
4 790.0 00| 2000| 349.5] 13485
e 1EH 2| 1mB[ 5280 00| 1200| 1500] 807.0
2618 4] 2mBE| 2620 00| 89.0| 1905| 5415
0 0.0 0.0 0.0 0.0 0.0
HER 1E o] 1EH 0.0 0.0 0.0 0.0 0.0
o] o] 2mE 0.0 0.0 0.0 0.0 0.0
30 3,7055| 56.0| 4950 | 2507.0| 67635
BRI Oy ak 1EH 24| 1EB| 25165 150 279.5[ 14440 4,255.0
26 B 24| 2EH| 11890 410| 2155| 10630 25085




1 0.0 0.0 0.0 45.0 45.0

EWR 1[E 8/ 0 1[EH 0.0 0.0 0.0 0.0 0.0
2[a B 1 2[[ B 0.0 0.0 0.0 45.0 45.0

3 0.0 6.0 113.0 35.0 154.0

ag 1= 8 2 1[E 8 0.0 0.0 43.0 9.0 52.0
2[E B 3 2B 0.0 6.0 70.0 26.0 102.0

0 0.0 0.0 0.0 0.0 0.0

BHE 1[E 8 0 1[E 8/ 0.0 0.0 0.0 0.0 0.0
2[[H 0 2[E B 0.0 0.0 0.0 0.0 0.0

1 454.5 54.5 0.0 114.5 623.5

RHR 1= 8 1 1= 8 341.0 0.0 0.0 34.5 375.5
i 2[E B 1 2EH 113.5 54.5 0.0 80.0 248.0
;":-[;g 4 645.5 0.0 47.5 281.0 974.0
s B R 1[5 B 3 1[E1 B 340.5 0.0 32.0 34.0 406.5
2[[H 4 2[E B 305.0 0.0 15.5 247.0 567.5

4 1715 0.0 32.0 428.0 631.5

BEHE 1E 8 3 18 31.5 0.0 0.0 234.5 266.0
2[EH 2 2EH 140.0 0.0 32.0 193.5 365.5

2 0.0 0.0 0.0 625.5 625.5

=ER 1[5 B 2 1[E1 B 0.0 0.0 0.0 520.5 520.5
2[[H 1 2[EH 0.0 0.0 0.0 105.0 105.0

15 1,271.5 60.5 1925 | 1,529.0| 3,053.5

- JLET Oy o &R 1[E 8 11 1A H 713.0 0.0 75.0 8325 1,620.5

2[aH 12 20 H 558.5 60.5 117.5 696.5 1,433.0

0 0.0 0.0 0.0 0.0 0.0

HEER 1[81 B 0 1[81 B 0.0 0.0 0.0 0.0 0.0
2[EH 0 2[E B 0.0 0.0 0.0 0.0 0.0

0 0.0 0.0 0.0 0.0 0.0

AT 1[E 8 0 1[E 8 0.0 0.0 0.0 0.0 0.0
2[aH 0 2[aH 0.0 0.0 0.0 0.0 0.0

6 196.0 7.5 81.0 310.0 594.5

KB AT 1= 8 5 1[E 8 108.0 0.0 36.5 171.0 315.5
2[E B 5 2@EH 88.0 7.5 44.5 139.0 279.0

2 0.0 0.0 0.0 426.0 426.0

Pl EER 1[E 8 1 1[EH 0.0 0.0 0.0 238.0 238.0
2[aH 2 2[aH 0.0 0.0 0.0 188.0 188.0

2 90.0 20.0 00| 1,4945]| 1,604.5

=RR 1= 8 2 1[E 8 90.0 20.0 0.0 562.0 672.0
2[E B 2 2@ B 0.0 0.0 0.0 932.5 932.5

0 0.0 0.0 0.0 0.0 0.0

IR 1[E 8 0 1[E 8/ 0.0 0.0 0.0 0.0 0.0
2[a B 0 2[[ B 0.0 0.0 0.0 0.0 0.0

10 286.0 27.5 81.0| 2,230.5| 2,625.0

E#ITOvoaR 1= 8 8 1[E 8 198.0 20.0 36.5 971.0 | 1,2255

2\ H ¢ 2B 88.0 7.5 445 | 1,259.5| 1,399.5




3 0.0 0.0 0.0 609.5 609.5

BHE 1[E 8/ 2 1[E 0.0 0.0 0.0 176.5 176.5
2[a B 2 2[[ B 0.0 0.0 0.0 433.0 433.0

3 60.0 0.0 100.0 492.0 652.0

BRE 1= 8 1 1[E 8 0.0 0.0 0.0 81.0 81.0
2[E B 3 2B 60.0 0.0 100.0 411.0 571.0

11 330.5 5.0 2045 | 1,268.5| 1,808.5

fiE] 1Ly R 1[E 8 8 1[E 8/ 112.5 5.0 94.5 527.0 739.0
2[[H 10 2[E B 218.0 0.0 110.0 7415 1,069.5

7 410.5 24.0 249.5| 1,983.0| 2,667.0

LER 1= 8 5 1= 8 215.0 24.0 171.5 297.5 708.0
2[E B 7 2EH 195.5 0.0 78.0 | 1,6855( 1,959.0

hE 2 140.0 6.0 275.0| 1,096.0| 1,517.0
o o 1ER” 1 1@ H 72.0 6.0 11.0 162.0 251.0
= 2[[H 2 2[E B 68.0 0.0 264.0 934.0 [ 1,266.0
0 0.0 0.0 0.0 0.0 0.0

meR 1E 8 0 18 0.0 0.0 0.0 0.0 0.0
2[EH 0 2[EH 0.0 0.0 0.0 0.0 0.0

4 398.5 0.0 89.0 349.5 837.0

FIR 1ER” 2 1@ H 89.0 0.0 38.0 1225 249.5
2[[H 4 2[EH 309.5 0.0 51.0 227.0 587.5

0 0.0 0.0 0.0 0.0 0.0

ESEI LS 1[E 8 0 1[E 8 0.0 0.0 0.0 0.0 0.0
2[EH 0 2EH 0.0 0.0 0.0 0.0 0.0

30 1,339.5 35.0 918.0 | 5,798.5 | 8,091.0

FE-IEITAvI &5 1[5 B 19 1[81 B 488.5 35.0 315.0 | 1,366.5| 2,205.0

2[A B 28 2B 851.0 0.0 603.0 | 4,432.0 5,886.0

11 1,289.0 0.0 3585 | 1,0045| 2,652.0

1R R 1[E 8 9 1[E 8 63.0 0.0 315 576.0 670.5
2[aH 10 2BB| 1,226.0 0.0 327.0 4285 | 1,981.5

1 315 0.0 8.0 34.0 73.5

EHER 1= 8 1 1[E 8 0.0 0.0 0.0 16.0 16.0
2[E B 1 2[E B 31.5 0.0 8.0 18.0 57.5

2 0.0 0.0 206.0 248.0 454.0

RER 1[E 8 2 1[EH 0.0 0.0 120.0 116.0 236.0
2[aH 2 2[aH 0.0 0.0 86.0 132.0 218.0

8 160.5 0.0 30.5 323.5 514.5

N 1= 8 5 1[E 8 63.0 0.0 11.5 53.5 128.0
UM 2[E B 8 2@ B 97.5 0.0 19.0 270.0 386.5
5 69.0 5.0 33.0 397.0 504.0

KR 1[E 8 4 1@ H 44.0 0.0 13.5 174.0 231.5
2[a B 4 2[[ B 25.0 5.0 19.5 223.0 272.5

3 66.0 2.0 215 127.0 216.5

BER 1= 8 2 1= 8 40.0 0.0 10.0 33.0 83.0
2 H 2 2@EH 26.0 2.0 11.5 94.0 133.5

4 44.0 3.0 14.0 124.0 185.0

ERSR 1E R 1 1[EH 0.0 0.0 0.0 76.0 76.0
2[[H 4 2[E B 44.0 3.0 14.0 48.0 109.0

34 1,660.0 10.0 671.5| 2,258.0 | 4,599.5

AMTOvH &R 1[E 8 24 1[E 8 210.0 0.0 186.5| 1,0445| 1,441.0

2[EH il 2B B| 1,450.0 10.0 485.0 | 1,2135| 3,158.5

1 140.0 45.0 38.5 515 275.0

R 1[61 B 0 1[EH 0.0 0.0 0.0 0.0 0.0
sl 2[[ B 1 2[E B 140.0 45.0 38.5 51.5 275.0
1 140.0 45.0 38.5 515 275.0

IOV SR 1[E 8 0 1HH 0.0 0.0 0.0 0.0 0.0

2[EH 1 2[EH 140.0 45.0 38.5 LS 275.0

144 9,912.5 356.5 | 3,039.0 | 16,136.0 || 29,444.0

et 1E R 106 1EH| 5,222.5 1755 | 1,272.0 | 6,388.0 || 13,058.0

2B 119 2EBIH| 4,690.0 181.0 | 1,767.0 [ 9,748.0 | 16,386.0




